NOTES AND PROBLEMS

This department welcomes short notes and problems believed to be new. Contributors should include solutions where known, or background material in case the problem is unsolved. Send all communications concerning this department to I.G. Connell, Department of Mathematics, McGill University Montreal, P.Q.

A DISCRETE ANALOGUE OF OPIAL'S INEQUALITY

James S. W. Wong

In a number of papers [1] - [7], successively simpler proofs were given for the following inequality of Opial [1], in case p = 1.

THEOREM 1. If x(t) is absolutely continuous with x(0) = 0, then for any $p \ge 0$,

(1)
$$\int_{0}^{a} |\mathbf{x}'(t)\mathbf{x}^{p}(t)| dt \leq \frac{a^{p}}{p+1} \int_{0}^{a} |\mathbf{x}'(t)|^{p+1} dt;$$

Equality holds only if x(t) = Kt for some constant K.

<u>Proof.</u> Let $z(t) = \int_{0}^{t} |x'(s)| ds$ and note that $z(t) \ge |x(t)|$ for all $t \ge 0$. Observe that

$$\int_{0}^{a} |\mathbf{x}'(t)\mathbf{x}^{p}(t)| dt \leq \int_{0}^{a} \mathbf{z}'(t)\mathbf{z}^{p}(t) dt = \frac{\mathbf{z}^{p+1}(a)}{p+1}$$

By Holder's inequality, we have $z^{p+1}(a) \le a^p \int_{0}^{a} |z'(t)|^{p+1} dt$, from which (1) readily follows.

We remark that a proof of (1) for p a positive integer is given in [7], but the same proof fails for general p. The purpose of the present note is to prove the following discrete analogue of (1).

THEOREM 2. Let u be a non-decreasing sequence of 115 non-negative numbers. Then for p > 1, we have

(2)
$$\sum_{i=1}^{n} (u_i - u_{i-1}) u_i^p \le \frac{(n+1)^p}{p+1} \sum_{i=1}^{n} (u_i - u_{i-1})^{p+1},$$

<u>where</u> $u_0 = 0$.

<u>Proof.</u> Let $x_i = u_i - u_{i-1}$; then $u_i = \sum_{j=1}^{1} x_j$ where $x_i \ge 0$. We may now rewrite (2) as

(3)
$$\sum_{i=1}^{n} x_i \left(\sum_{j=1}^{i} x_j\right)^p \le \frac{(n+1)^p}{p+1} \sum_{i=1}^{n} x_i^{p+1}$$

We shall proceed to prove (3) by induction. Clearly (3) holds with n = 1. Now we assume (3) holds for n, and observe

(4)
$$\sum_{i=1}^{n+1} x_i \left(\sum_{j=1}^{i} x_j\right)^p \le \frac{(n+1)^p}{p+1} \left\{\sum_{i=1}^{n} x_i^{p+1} + (p+1) x_{n+1}^{*p} x_{n+1}\right\}$$

where $x_k^* = \frac{1}{k} \sum_{i=1}^k x_i$. By Young's inequality, one easily sees that $(p+1) x_{n+1}^* x_{n+1} \le x_{n+1}^{p+1} + p x_{n+1}^{*p+1}$. Using Hölder's inequality, we may show that

$$(x_{n+1}^*)^{p+1} \le \frac{1}{n+1} \sum_{j=1}^{n+1} x_j^{p+1}$$

Substituting these estimates into (4), we find

$$\begin{array}{cccc} {}^{n+1} & {}^{i} & {}^{i} & {}^{j} \\ {}^{\Sigma} & {}^{x} & {}^{i} & {}^{j+1} & {}^{p} & {}^{n+1} & {}^{n+1} & {}^{p+1} & {}^{n+1} & {}^{p+1} \\ {}^{i} = 1 & {}^{i} & {}^{i} & {}^{i} & {}^{i} & {}^{i} & {}^{i} \\ \end{array} \\ & \leq \frac{(n+2)^{p}}{p+1} & {}^{n+1} & {}^{i} & {}^{i} & {}^{i} & {}^{i} \\ {}^{i} = 1 & {}^{i} & {}^{i} & {}^{i} \end{array} ,$$

which is what we wish to prove.

REMARK 1. Inequality (3) fails to hold for p < 1.

116

Consider $p = \frac{1}{2}$, n = 2, $u_1 = 1$, and $u_2 = 2$.

REMARK 2. From the above proof, one readily sees that for all p > 1, strict inequality in fact holds in (2). In case p = 1, equality occurs only when $u_i = Ki$ for some constant $K \ge 0$ and for all i = 1, 2, 3, ...

REMARK 3. To see that (2) is indeed a useful inequality, set $x_i = 1$ for all i = 1, 2, 3, ... in (3) and obtain for all p > 1

$$\sum_{k=1}^{n} k^{p} < \frac{(n+1)^{p}n}{p+1} < \frac{(n+1)^{p+1}-1}{p+1} = \int_{1}^{n+1} x^{p} dx ,$$

which shows that (2) yields a better estimate than that obtained by simply comparing areas. In case p = 1, (3) reduces to the familiar identity

$$\sum_{k=1}^{n} k = \frac{n(n+1)}{2}$$

<u>Acknowledgement</u>. Thanks are due to R. S. C. Wong for several stimulating discussions.

REFERENCES

- 1. Z. Opial, Sur une inequalite. Ann. Polon. Math., 8 (1960), pages 29-32.
- C. Olech, A simple proof of a certain result of Z. Opial. Ann. Polon. Math., 8 (1960), pages 61-63.
- P.R. Beesack, On an integral inequality of Z. Opial. Trans. Amer. Math. Soc., 104 (1962), pages 470-475.
- N. Levinson, On an inequality of Opial and Beesack. Proc. Amer. Math. Soc., 15 (1964), pages 565-566.
- 5. C.L. Mallows, An even simpler proof of Opial's inequality. Proc. Amer. Math. Soc., 16 (1965), page 173.
- R.N. Pederson, On an inequality of Opial, Beesack and Levinson. Proc. Amer. Math. Soc., 15 (1966), page 174.

117

 L.K. Hua, On an inequality of Opial. Scientia Sinica, 14 (1965), pages 789-790.

University of Alberta, Edmonton